PUR 1342 Fire Service Performance Testing / Inspection

ON NO. 1 - Single Award for All Services				Fail Safe Testing Manalapan, NJ		FireOne, Inc. Drexel Hill, PA		Waterways of Southwest, PA Bethel Park, PA	
Item No.	Description	Unit of Measure	Quantity	Unit Price/Each	Total Price	Unit Price/Each	Total Price	Unit Price/Each	Total Price
1	Fire Pump Testing	EA	48	\$225.00	\$10,800.00	\$250.00	\$12,000.00	\$300.00	\$14,400.00
2	Hose Testing – Diameter 1- $1/2 - 2$ "	LF	60,000	\$0.18	\$10,800.00	\$0.225	\$13,500.00	\$0.18	\$10,800.00
3	Hose Testing – Diameter 2- $1/2 - 3$ "	LF	34,000	\$0.18	\$6,120.00	\$0.225	\$7,650.00	\$0.18	\$6,120.00
4	Hose Testing – Diameter 4 – 5"	LF	64,000	\$0.18	\$11,520.00	\$0.225	\$14,400.00	\$0.18	\$11,520.00
5	Ground Ladder Testing – 10' Folding (Attic)	EA	42	\$34.00	\$1,428.00	\$20.00	\$840.00	\$11.50	\$483.00
6	Straight Ladders Testing (12' – 20')	EA	53	\$34.00	\$1,802.00	\$30.00	\$1,590.00	\$23.00	\$1,219.00
7	Extension Ladders Testing (16' – 28')	EA	42	\$34.00	\$1,428.00	\$40.00	\$1,680.00	\$32.20	\$1,352.40
8	Extension Ladders (30' – 45')	EA	14	\$34.00	\$476.00	\$45.00	\$630.00	\$51.75	\$724.50
9	Aerial Device Testing – 75' Ladders	EA	2	\$600.00	\$1,200.00	\$750.00	\$1,500.00	\$725.00	\$1,450.00
10	Aerial Device Testing – 105' Skyarm	EA	1	\$600.00	\$600.00	\$820.00	\$820.00	\$725.00	\$725.00
11	Ladder truck / 5-Year Non- Destructive Test	EA	1	No Bid	\$0.00	\$900.00	\$900.00	\$950.00	\$950.00
TOTAL SUM BID PRICE (Item Nos. 1 through 11)			\$46,174.00		\$55,510.00		\$49,743.90		

PUR 1342 Fire Service Performance Testing / Inspection

OPTION NO. 2 - Total of Four (4) Awards – One (1) for Each Service Group (<i>per Addendum No. 1</i>)				Fail Safe Testing Manalapan, NJ		FireOne, Inc. Drexel Hill, PA		Waterways of Southwest, PA Bethel Park, PA		
Group	Item No.	Description	Unit of Measure	Quantity	Unit Price/Each	Total Price	Unit Price/Each	Total Price	Unit Price/Each	Total Price
2A	1	Fire Pump Testing	EA	48	\$225.00	\$10,800.00	\$260.00	\$12,480.00	\$300.00	\$14,400.00
TOTAL SUM BID PRICE FOR GROUP 2A (Item No. 1)				\$10,800.00		\$12,480.00		\$14,400.00		
	2	Hose Testing – Diameter 1- $1/2 - 2$ "	LF	60,000	\$0.19	\$11,400.00	\$0.23	\$13,800.00	\$0.18	\$10,800.00
2B	3	Hose Testing – Diameter 2- $1/2 - 3$ "	LF	34,000	\$0.19	\$6,460.00	\$0.23	\$7,820.00	\$0.18	\$6,120.00
	4	Hose Testing – Diameter 4 – 5"	LF	64,000	\$0.19	\$12,160.00	\$0.23	\$14,720.00	\$0.18	\$11,520.00
TOTAL SUM BID PRICE FOR GROUP 2B (Item Nos. 2 through 4)				\$30,020.00		\$36,340.00		\$28,440.00		
	5	Ground Ladder Testing – 10' Folding (Attic)	EA	42	\$34.00	\$1,428.00	\$20.00	\$840.00	\$11.50	\$483.00
20	6	Straight Ladders Testing (12' – 20')	EA	53	\$34.00	\$1,802.00	\$30.00	\$1,590.00	\$23.00	\$1,219.00
2C	7	Extension Ladders Testing (16' – 28')	EA	42	\$34.00	\$1,428.00	\$40.00	\$1,680.00	\$32.20	\$1,352.40
	8	Extension Ladders (30' – 45')	EA	14	\$34.00	\$476.00	\$45.00	\$630.00	\$51.75	\$724.50
	TOTAL SUM BID PRICE FOR GROUP 2C (<i>Item Nos. 5 through 8</i>)				\$5,134.00		\$4,740.00		\$3,778.90	
	9	Aerial Device Testing – 75' Ladders	EA	2	\$600.00	\$1,200.00	\$765.00	\$1,530.00	No Bid	\$0.00
2D	10	Aerial Device Testing – 105' Skyarm	EA	1	\$600.00	\$600.00	\$820.00	\$820.00	No Bid	\$0.00
	11	Ladder truck / 5-Year Non- Destructive Test	EA	1	No Bid	\$0.00	\$900.00	\$900.00	No Bid	\$0.00
	TOTAL SUM BID PRICE FOR GROUP 2D (Item Nos. 9 through 11)				\$1,800.00		\$3,250.00		\$0.00	

PUR 1342 Fire Service Performance Testing / Inspection

Remarks / Exceptions:

- FailSafe Option 1 Heat Sensor Labels are \$2.50 each and those are as needed. We will only replaced if they are expired or exposed to heat.
 Option 2 Heat Sensor Labels are an additional \$2.50 cost per sticker and will be replaced as needed. We are not doing NDT Testing in your area this year.
- FireOne, Inc. Option 1 Ground ladder testing includes heat sensor replacement and safety label replacement as needed at no additional cost. Halyards can be replaced for \$25 per extension ladder.
 Option 2 - Ground ladder testing includes heat sensor replacement and safety label replacement as noted at no additional cost. Halyards can be replaced for \$25 per extension ladder.
- Waterways Option 1 If awarded fire pump testing, hose testing and ground ladder testing would be completed at the same time.
 We can test up to 22,000 Ft. of hose per day. Aerial testing would be completed by the end of 2017.
 Option 2 Fire pump testing, hose testing and ground ladder testing would be all completed at the time or any combination.
 *Option 2C Corrected calculation based on Total Price Item Nos. 5+6+7+8
- **Diversified - Option 2 -** ITEM NO. 3 Diversified Inspections' Inspectors in this region do not have CDL's. In accordance to FMCSA Part 383.3, a CDL is not required when a vehicle is operated by a mechanic, shop help or occasional driver, unless driven on a public highway. It is our intention to perform all testing onsite.

PUR 1342 Fire Service Performance Testing / Inspection

ON NO.	1 - Single Award for All S	Services		Maintenance U Servi Harrisbu	ices	Diversified Inspections/ ITL, Inc. Phoenix, AZ	
Item No.	Description	Unit of Measure Quantity		Unit Price/Each	Total Price	Unit Price/Each	Total Price
1	Fire Pump Testing	EA	48	\$325.00	\$15,600.00	No Bid	\$0.00
2	Hose Testing – Diameter 1- $1/2 - 2$ "	LF	60,000	\$0.26	\$15,600.00	No Bid	\$0.00
3	Hose Testing – Diameter 2- $1/2 - 3$ "	LF	34,000	\$0.26	\$8,840.00	No Bid	\$0.00
4	Hose Testing – Diameter 4 – 5"	LF	64,000	\$0.26	\$16,640.00	No Bid	\$0.00
5	Ground Ladder Testing – 10' Folding (Attic)	EA	42	\$45.00	\$1,890.00	No Bid	\$0.00
6	Straight Ladders Testing (12' – 20')	EA	53	\$45.00	\$2,385.00	No Bid	\$0.00
7	Extension Ladders Testing (16' – 28')	EA	42	\$45.00	\$1,890.00	No Bid	\$0.00
8	Extension Ladders (30' – 45')	EA	14	\$45.00	\$630.00	No Bid	\$0.00
9	Aerial Device Testing – 75' Ladders	EA	2	\$1,295.00	\$2,590.00	No Bid	\$0.00
10	Aerial Device Testing – 105' Skyarm	EA	1	\$1,295.00	\$1,295.00	No Bid	\$0.00
11	Ladder truck / 5-Year Non- Destructive Test	EA	1	\$1,295.00	\$1,295.00	No Bid	\$0.00
	TOTAL SUM BID (Item Nos. 1 throug			\$68,655.00		\$0.00	

		2 - Total of Four (4) Awar ch Service Group	rds –	Maintenance Unlimited Fire Services Harrisburg, PA		Diversified Inspections/ ITL, Inc. Phoenix, AZ		
Group	Item No.	Description	Unit of Measure	Quantity	Unit Total Price/Each Price		Unit Price/Each	Total Price
2A	1	Fire Pump Testing	EA	48	\$350.00	\$16,800.00	No Bid	\$0.00
	тот	AL SUM BID PRICE FOR (Item No. 1)	GROUP 2A	\$16,800.00		\$0.00		
	2	Hose Testing – Diameter 1- $1/2 - 2$ "	LF	60,000	\$0.27	\$16,200.00	No Bid	\$0.00
2B	3	Hose Testing – Diameter 2- $1/2 - 3$ "	LF	34,000	\$0.27	\$9,180.00	No Bid	\$0.00
	4	Hose Testing – Diameter 4 – 5"	LF	64,000	\$0.27	\$17,280.00	No Bid	\$0.00
	тот	AL SUM BID PRICE FOR (Item Nos. 2 through 4)		\$42,660.00		\$0.00		
	5	Ground Ladder Testing – 10' Folding (Attic)	EA	42	No Bid	\$0.00	\$40.00	\$1,680.00
2 C	6	Straight Ladders Testing (12' – 20')	EA	53	No Bid	\$0.00	\$40.00	\$2,120.00
20	7	Extension Ladders Testing (16' – 28')	EA	42	No Bid	\$0.00	\$40.00	\$1,680.00
	8	Extension Ladders (30' – 45')	EA	14	No Bid	\$0.00	\$40.00	\$560.00
	тот	AL SUM BID PRICE FOR (Item Nos. 5 through 8)		\$0.00		\$6,040.00		
	9	Aerial Device Testing – 75' Ladders	EA	2	No Bid	\$0.00	\$775.00	\$1,550.00
2D	10	Aerial Device Testing – 105' Skyarm	EA	1	No Bid	\$0.00	\$775.00	\$775.00
	11	Ladder truck / 5-Year Non- Destructive Test	EA	1	No Bid	\$0.00	\$850.00	\$850.00
	тот	AL SUM BID PRICE FOR (Item Nos. 9 through 11		\$0.00		\$3,175.00		

PUR 1342 Fire Service Performance Testing / Inspection